## AMBARZUMYAN-TYPE THEOREMS FOR THE STURM-LIOUVILLE EQUATION ON A GRAPH

CHUAN-FU YANG, ZHEN-YOU HUANG AND XIAO-PING YANG

ABSTRACT. In this paper we consider the inverse spectral problem of small vibrations of a graph consisting of d, d > 2,  $d \in \mathbf{N}$ , joint inhomogeneous smooth strings which can be reduced to the Sturm-Liouville boundary value problem on a graph. This problem occurs also in quantum mechanics. An analog of Ambarzumyan's theorem is proved for the case of a Sturm-Liouville problem on the compact metric graph consisting of d segments of equal length with the Neumann boundary conditions at the pendant vertices and Kirchhoff boundary conditions at the central vertex, which case is also exceptional. We also extend Ambarzumyan's theorem of a Sturm-Liouville problem to the compact metric graph with the Dirichlet boundary conditions at the pendant vertices, by imposing an additional condition on the potential functions. The proof is based on the Gelfand-Levitan equation and variational principle.

1. Setting of the problem. From an historical viewpoint, the paper [1] of Ambarzumyan may be thought to be the starting point of the inverse spectral theory aiming to reconstruct the potential from the spectrum (or spectra), Ambarzumyan proved the following theorem:

If  $q \in C[0,\pi]$ , and  $\{n^2: n=0,1,2,\dots\}$  is the spectra set of the boundary value problem

$$-y'' + q(x)y = \lambda y, \quad y'(0) = y'(\pi) = 0,$$

then  $q \equiv 0$  in  $[0, \pi]$ .

<sup>2000</sup> AMS Mathematics subject classification. Primary 34B24, 34A55, 34B10, 73K03.

Keywords and phrases. Ambarzumyan's theorem, inverse problem, variational principle, multiplicity of an eigenvalue.

This work was supported by a Grant-in-Aid for Scientific Research from Nanjing University of Science and Technology (AB 96240, XKF09041) and the National Natural Science Foundation of China (10771102).

Received by the editors on September 18, 2006, and in revised form on December 16, 2006.

Later it became clear that the case investigated by Ambarzumyan was exceptional; in general, two spectra are needed to determine the potential [2, 3, 10]. Various generalizations of Ambarzumyan's theorem can be found in [1, 5, 6, 7, 9, 12], etc.

Quantum graphs are differential (self-adjoint) operators on metric graphs determined on the functions satisfying certain boundary conditions at the vertices. Differential operators on metric graphs (quantum graphs) is a rather new and rapidly developing area of modern mathematical physics. Such operators can be used to model the motion of quantum particles confined to certain low-dimensional structures. Inverse spectral problems of the Sturm-Liouville equation on graphs were investigated by Brown and Weikard [4], Pivovarchik [11, 12], Wassel [13] and Yurko [14], etc.

In the present paper we consider inverse spectral problems for the Sturm-Liouville equation on a star-shaped metric graph consisting of d segments of equal length. For their inverse spectral problems, in general one spectrum does not uniquely determine the potential on the edges of the graph [11]. However, as in the case of a single interval, there are exceptional cases, in which the potential is uniquely determined by its spectrum. We consider an exceptional case in which a part of one spectrum of a boundary value problem with the Neumann boundary conditions at the pendant vertices uniquely determines the set of potentials on the edges of the graph. We also investigate extensional Ambarzumyan-type theorems, that is, a part of one spectrum of a boundary value problem with the Dirichlet boundary conditions at the pendant vertices and an additional condition on the potential functions uniquely determine the set of potentials on the edges of the graph. The proof uses the Gelfand-Levitan equation and variational principle [7, 9, 10]. In paper [12] a star-shaped graph consisting of three segments was considered with the Neumann boundary conditions at the pendant vertices and Kirchhoff boundary conditions at the central vertex. The present paper extends the results in [12] to star graphs consisting of an arbitrary number of segments with the Neumann boundary conditions and the Dirichlet boundary conditions at the pendant vertices, respectively.

Consider the following boundary value problem:

$$(1.1_i) -y_i'' + q_i(x)y_i = \lambda y_i, j = 1, 2, \dots, d; \ d \ge 2, \ d \in \mathbf{N}$$

subject to

$$(1.2_j)_1$$
  $y_j(0) = 0, \quad j = 1, 2, \dots, d$ 

or

$$(1.2_j)_2$$
  $y_i'(0) = 0, \quad j = 1, 2, \dots, d,$ 

$$(1.3) y_1(\lambda, \pi) = y_2(\lambda, \pi) = \dots = y_d(\lambda, \pi),$$

(1.4) 
$$y_1'(\lambda, \pi) + y_2'(\lambda, \pi) + \dots + y_d'(\lambda, \pi) = 0,$$

where the  $q_j \in L^2[0, \pi]$ ,  $j = 1, 2, \ldots, d$ , are real-valued functions. Equation (1.3) is called a continuity condition, (1.4) a Kirchhoff condition and the collection of both interface conditions. This problem occurs in the small vibrations of a graph of d inhomogeneous smooth strings each having one end joint, and a quantum particle moving in a quasi one-dimensional graph domain.

For all

$$f,g \in L^2_d[0,\pi] =: \bigoplus_{i=1}^d L^2[0,\pi],$$

define an inner product and a norm

$$(f,g) = \sum_{j=1}^d \int_0^{\pi} f_j(x) \overline{g_j}(x) dx, \quad ||f|| = \left(\sum_{j=1}^d \int_0^{\pi} |f_j(x)|^2 dx\right)^{1/2},$$

where 
$$f = (f_1, \dots, f_d)^T$$
,  $g = (g_1, \dots, g_d)^T$ .

Give the operator interpretation of the above problems. By  $A_1, A_2$  we denote the operator acting in Hilbert space  $L_d^2[0, \pi]$  by the formulas, respectively,

$$A_{1}\begin{pmatrix} y_{1}(x) \\ \vdots \\ y_{d}(x) \end{pmatrix} = \begin{pmatrix} -y_{1}''(x) + q_{1}(x)y_{1}(x) \\ \vdots \\ -y_{d}''(x) + q_{d}(x)y_{d}(x) \end{pmatrix},$$

$$D(A_{1}) = \begin{cases} \begin{pmatrix} y_{1}(x) \\ \vdots \\ y_{d}(x) \end{pmatrix} : y_{j} \in L^{2}[0, \pi], -y_{j}'' + q_{j}y_{j} \in L^{2}[0, \pi], \ y_{j}(0) = 0 \\ \vdots \\ y_{d}(x) \end{pmatrix};$$

$$j = 1, \dots, d, \ y_{1}(\lambda, \pi) = \dots = y_{d}(\lambda, \pi), \sum_{j=1}^{d} y_{j}'(\lambda, \pi) = 0 \end{cases};$$

and

$$A_{2}\begin{pmatrix} y_{1}(x) \\ \vdots \\ y_{d}(x) \end{pmatrix} = \begin{pmatrix} -y_{1}''(x) + q_{1}(x)y_{1}(x) \\ \vdots \\ -y_{d}''(x) + q_{d}(x)y_{d}(x) \end{pmatrix},$$

$$D(A_{2}) = \begin{cases} \begin{pmatrix} y_{1}(x) \\ \vdots \\ y_{d}(x) \end{pmatrix} : y_{j} \in L^{2}[0, \pi], -y_{j}'' + q_{j}y_{j} \in L^{2}[0, \pi], y_{j}'(0) = 0 \\ \vdots \\ y_{d}(x) \end{pmatrix} .$$

$$j = 1, \dots, d, y_{1}(\lambda, \pi) = \dots = y_{d}(\lambda, \pi), \sum_{j=1}^{d} y_{j}'(\lambda, \pi) = 0 \end{cases}.$$

Here the operator  $A_i$ , i=1,2, corresponds to problems  $(1.1_j)$ ,  $(1.2_j)_i$ , (1.3) and (1.4), respectively. It is easy to check that the operators  $A_i$ , i=1,2, are self-adjoint, and each operator's spectrum, which consists of eigenvalues, is real. Denote the spectrum of the operator  $A_i$  by  $\sigma(A_i)$ , i=1,2.

The main results of this paper are as follows.

**Theorem 1.1.** Let the real-valued functions  $q_j \in L^2[0,\pi]$ ,  $j = 1, 2, \ldots, d$ . If  $\{0\} \cup \{m_k^2 : k = 1, 2, \ldots\} \subset \sigma(A_2)$ , where 0 is the first eigenvalue of  $A_2$ , and  $m_k$  is a strictly ascending infinite sequence of positive integers, then  $q_j(x) = 0$ ,  $j = 1, 2, \ldots, d$ , almost everywhere in  $L^2[0,\pi]$ .

**Theorem 1.2.** Let the real-valued functions  $q_j \in L^2[0,\pi]$ ,  $j = 1, 2, \ldots, d$ . If  $\{0\} \cup \{(m_k - (1/2))^2 : k = 1, 2, \ldots\} \subset \sigma(A_2)$ , where 0 is the first eigenvalue of  $A_2$  and the multiplicity of each eigenvalue  $(m_k - (1/2))^2$  is d - 1,  $m_k$  is a strictly ascending infinite sequence of positive integers, then  $q_j(x) = 0$ ,  $j = 1, 2, \ldots, d$ , almost everywhere in  $L^2[0, \pi]$ .

**Theorem 1.3.** Let the real-valued functions  $q_j \in L^2[0,\pi]$ , j = 1, 2, ..., d. Then  $(1/4) \cup \{(m_k - (1/2))^2 : k = 1, 2, ...\} \subset \sigma(A_1)$ , where 1/4 is the first eigenvalue of  $A_1$ ,  $m_k$  is a strictly ascending infinite sequence of positive integers, and the potential functions  $q_j(x)$ , j = 1, 2, ..., d, satisfy

$$\int_0^{\pi} \cos x \sum_{j=1}^d q_j(x) \, dx = 0$$

if and only if  $q_j(x) = 0$ , j = 1, 2, ..., d, almost everywhere in  $L^2[0, \pi]$ .

**Theorem 1.4.** Let the real-valued functions  $q_j \in L^2[0,\pi]$ ,  $j = 1, 2, \ldots, d$ . Then  $\{1/4\} \cup \{m_k^2 : k = 1, 2, \ldots\} \subset \sigma(A_1)$ , where 1/4 is the first eigenvalue of  $A_1$  and the multiplicity of each eigenvalue  $m_k^2$  is d-1,  $m_k$  is a strictly ascending infinite sequence of positive integers, and the potential functions  $q_j(x)$ ,  $j = 1, 2, \ldots, d$ , satisfy

$$\int_0^{\pi} \cos x \sum_{j=1}^d q_j(x) \, dx = 0$$

if and only if  $q_j(x) = 0$ , j = 1, 2, ..., d, almost everywhere in  $L^2[0, \pi]$ .

The paper is organized as follows. In Section 2, we obtain the equation for eigenvalues of problems  $(1.1_j)$ ,  $(1.2_j)_1$  or  $(1.2_j)_2$ , (1.3) and (1.4), respectively. Finally, Section 3 proves theorems obtained in this paper.

2. Equation for the eigenvalues. In this section, by resorting to the Gelfand-Levitan equation developed in [7, 10], we derive the equation for eigenvalues of the problem  $(1.1_j)$ ,  $(1.2_j)_1$  or  $(1.2_j)_2$ , (1.3) and (1.4), respectively.

First we study the equation for eigenvalues of problems  $(1.1_j)$ ,  $(1.2_j)_1$ , (1.3) and (1.4). Denote by  $s_j(\lambda, x)$ ,  $j = 1, 2, \ldots, d$ , the solution of  $(1.1_j)$  that satisfies the conditions

$$(2.1_j)$$
  $s_j(\lambda, 0) = 0, \quad s'_j(\lambda, 0) = 1;$ 

then the solution of equation  $(1.1_j)$  that satisfies the condition  $(1.2_j)_1$  is

$$(2.2_j) y_j(\lambda, x) = c_j s_j(\lambda, x),$$

where  $c_j$  are constants. Substituting  $(2.2_j)$  into (1.3) and (1.4), we obtain the following equation for eigenvalues of the operator  $A_1$ :  $\lambda$  is

an eigenvalue of operator  $A_1$  if and only if (2,3)

$$\varphi_{1}(\lambda) =: \begin{vmatrix} s_{1}(\lambda, \pi) & -s_{2}(\lambda, \pi) & 0 & \cdots & 0 & 0 \\ 0 & s_{2}(\lambda, \pi) & -s_{3}(\lambda, \pi) & \cdots & 0 & 0 \\ \vdots & \vdots & \vdots & \ddots & \vdots & \vdots \\ 0 & 0 & 0 & \cdots & s_{d-1}(\lambda, \pi) & -s_{d}(\lambda, \pi) \\ s'_{1}(\lambda, \pi) & s'_{2}(\lambda, \pi) & s'_{3}(\lambda, \pi) & \cdots & s'_{d-1}(\lambda, \pi) & s'_{d}(\lambda, \pi) \end{vmatrix}$$

$$= \sum_{j=1}^{d} s'_{j}(\lambda, \pi) \prod_{j \neq l \in \{1, 2, \dots, d\}} s_{l}(\lambda, \pi) = 0.$$

Making use of the formulas in [7, 10], we have

$$s_{j}(\lambda, x) = \frac{\sin(\sqrt{\lambda}x)}{\sqrt{\lambda}} + \frac{1}{\sqrt{\lambda}} \int_{0}^{x} K_{j}(x, t) \sin(\sqrt{\lambda}t) dt$$

$$= \frac{\sin(\sqrt{\lambda}x)}{\sqrt{\lambda}} - \frac{\cos(\sqrt{\lambda}x)}{\lambda} K_{j}(x, x)$$

$$+ \frac{1}{\lambda} \int_{0}^{x} K_{j,t}(x, t) \cos(\sqrt{\lambda}t) dt;$$

$$s'_{j}(\lambda, x) = \cos(\sqrt{\lambda}x) + \frac{K_{j}(x, x)}{\sqrt{\lambda}} \sin(\sqrt{\lambda}x)$$

$$+ \frac{1}{\sqrt{\lambda}} \int_{0}^{x} K_{j,x}(x, t) \sin(\sqrt{\lambda}t) dt,$$

where  $K_j(x,t)$ , j=1,2,...,d, have first partial derivatives  $K_{j,x}(x,t)$  and  $K_{j,t}(x,t)$  belonging to  $L^2[0,\pi]$  as functions of t for fixed x, and

(2.5) 
$$K_{j}(x,t) = 0 \ (t > x), \qquad K_{j}(0,0) = 0, \qquad K_{j}(x,0) = 0,$$
$$K_{j}(\pi,\pi) = \frac{1}{2} \int_{0}^{\pi} q_{j}(x) \ dx.$$

For brevity, we set

$$a_j = \int_0^{\pi} K_{j,x}(\pi, t) \sin(\sqrt{\lambda}t) dt, \quad b_j = \int_0^{\pi} K_{j,t}(\pi, t) \cos(\sqrt{\lambda}t) dt;$$

then the Riemann-Lebesgue lemma implies

$$(2.6) a_j \longrightarrow 0, b_j \longrightarrow 0 (as \lambda \to \infty).$$

**Lemma 2.1.** The function  $\varphi_1(\lambda)$  defined by (2.3) corresponding to the operator  $A_1$  can be presented as follows:

$$\varphi_{1}(\lambda) = \frac{d\cos(\sqrt{\lambda}\pi)\sin^{d-1}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d-1}} + \frac{(d-1)\cos(\sqrt{\lambda}\pi)\sin^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d}}$$

$$\times \sum_{j=1}^{d} b_{j} - \frac{(d-1)\cos^{2}(\sqrt{\lambda}\pi)\sin^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d}}$$

$$\times \sum_{j=1}^{d} K_{j}(\pi,\pi) + \frac{\sin^{d-1}(\sqrt{\lambda}\pi)\sum_{j=1}^{d} a_{j}}{\sqrt{\lambda}^{d}}$$

$$+ \frac{\sin^{d}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d}} \sum_{j=1}^{d} K_{j}(\pi,\pi) + \cos(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-2} \frac{\alpha_{m}^{j}}{\sqrt{\lambda}^{d+m}}$$

$$+ \sin(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{K_{j}(\pi,\pi)\beta_{m}^{j}}{\sqrt{\lambda}^{d+m}} + \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{a_{j}\beta_{m}^{j}}{\sqrt{\lambda}^{d+m}},$$

where  $\alpha_m^j$ ,  $1 \leq m \leq d-2$ ,  $\beta_m^j$ ,  $1 \leq m \leq d-1$ ,  $1 \leq j \leq d$ , are entire functions in  $\lambda$ , which are the finite summation of the finite products with  $b_j$ ,  $\sin(\sqrt{\lambda}\pi)$  and  $\cos(\sqrt{\lambda}\pi)$ .

*Proof.* By (2.3) and  $(2.4_i)$  we have

$$\varphi_{1}(\lambda) = \sum_{j=1}^{d} \left[ \cos(\sqrt{\lambda}\pi) + \frac{K_{j}(\pi,\pi)}{\sqrt{\lambda}} \sin(\sqrt{\lambda}\pi) + \frac{a_{j}}{\sqrt{\lambda}} \right]$$

$$\times \prod_{j \neq l \in \{1,2,\dots,d\}} \left[ \frac{\sin(\sqrt{\lambda}\pi)}{\sqrt{\lambda}} + \frac{b_{l} - \cos(\sqrt{\lambda}\pi)K_{l}(\pi,\pi)}{\lambda} \right]$$

$$= \sum_{j=1}^{d} \left[ \cos(\sqrt{\lambda}\pi) + \frac{K_{j}(\pi,\pi)}{\sqrt{\lambda}} \sin(\sqrt{\lambda}\pi) + \frac{a_{j}}{\sqrt{\lambda}} \right]$$

$$\times \left[ \frac{\sin^{d-1}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d-1}} + \frac{\sin^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d}} \right]$$

$$\times \sum_{j \neq l \in \{1,2,\dots,d\}} (b_{l} - \cos(\sqrt{\lambda}\pi)K_{l}(\pi,\pi)) + \frac{\sin^{d-3}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d+1}}$$

$$\times \sum_{\substack{l < l_1 \\ j \neq l \\ l_1 \in \{1, 2, \dots, d\}}} (b_l - \cos(\sqrt{\lambda}\pi) K_l(\pi, \pi)) (b_{l_1} - \cos(\sqrt{\lambda}\pi) K_{l_1}(\pi, \pi))$$

$$+ \dots + \frac{1}{\sqrt{\lambda}^{2d-2}} \prod_{j \neq l \in \{1, 2, \dots, d\}} (b_l - \cos(\sqrt{\lambda}\pi) K_l(\pi, \pi)) \Big]$$

$$= \sum_{j=1}^d \left[ \frac{\cos(\sqrt{\lambda}\pi) \sin^{d-1}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d-1}} + \frac{\cos(\sqrt{\lambda}\pi) \sin^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^d} \right.$$

$$\times \sum_{j \neq l \in \{1, 2, \dots, d\}} b_l - \frac{\cos^2(\sqrt{\lambda}\pi) \sin^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^d} \right.$$

$$\times \sum_{j \neq l \in \{1, 2, \dots, d\}} K_l(\pi, \pi)$$

$$+ \cos(\sqrt{\lambda}\pi) \sum_{m=1}^{d-2} \frac{\alpha_m^j}{\sqrt{\lambda}^{d+m}} + \frac{\sin^d(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^d} K_j(\pi, \pi)$$

$$+ K_j(\pi, \pi) \sin(\sqrt{\lambda}\pi) \sum_{m=1}^{d-1} \frac{\beta_m^j}{\sqrt{\lambda}^{d+m}} + \frac{\sin^{d-1}(\sqrt{\lambda}\pi)a_j}{\sqrt{\lambda}^d}$$

$$+ a_j \sum_{m=1}^{d-1} \frac{\beta_m^j}{\sqrt{\lambda}^{d+m}} \Big].$$

Therefore, equation (2.7) is obvious and we finish the proof.

If  $q_j(x) \equiv 0$ , then, by substituting  $s_j(\lambda, \pi) = (\sin(\sqrt{\lambda}\pi))/\sqrt{\lambda}$  and  $s'_j(\lambda, \pi) = \cos(\sqrt{\lambda}\pi)$  into (2.3), we get

$$\varphi_1(\lambda) = \cos(\sqrt{\lambda}\pi) \frac{\sin^{d-1}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}^{d-1}}.$$

The set of zeros of this characteristic function, which consists of eigenvalues of the operator  $A_1$  as  $q_i(x) \equiv 0$ .

The geometric multiplicity of an eigenvalue is the dimension of its eigenspace, that is, the number of its linearly independent eigenfunctions. For the operator  $A_1$  this number is 1 to d. The algebraic multiplicity is defined in terms of a characteristic function. This is a function

whose zeros are precisely the eigenvalues of the problem. The order of a zero is the algebraic multiplicity of the corresponding eigenvalue. In particular, the geometric multiplicity of each eigenvalue of the self-adjoint operator  $A_1$  is equal to its algebraic multiplicity. The set of zeros of the function  $\varphi_1(\lambda)$  is  $\{n^2\}_{n=1}^{\infty} \cup \{(n-(1/2))^2\}_{n=1}^{\infty}$ . Since

$$\frac{d}{d\lambda}\varphi_1(\lambda)|_{\lambda=(n-(1/2))^2} \neq 0$$

and

$$\frac{d}{d\lambda}\varphi_1(\lambda)|_{\lambda=n^2} = \dots = \frac{d^{d-2}}{d\lambda^{d-2}}\varphi_1(\lambda)|_{\lambda=n^2} = 0,$$
$$\frac{d^{d-1}}{d\lambda^{d-1}}\varphi_1(\lambda)|_{\lambda=n^2} \neq 0,$$

the algebraic multiplicity of each eigenvalue in  $\{(n-(1/2))^2\}_{n=1}^{\infty}$  is 1 and the algebraic multiplicity of each eigenvalue in  $\{n^2\}_{n=1}^{\infty}$  is d-1. Thus the following lemma is obtained.

**Lemma 2.2.** If  $q_j(x) \equiv 0, j = 1, 2, ..., d$ , then

$$\sigma(A_1) = \{n^2\}_{n=1}^{\infty} \bigcup \left\{ \left(n - \frac{1}{2}\right)^2 \right\}_{n=1}^{\infty}.$$

Moreover, the (geometric) multiplicity of each eigenvalue in  $\{(n-(1/2))^2\}_{n=1}^{\infty}$  is simple and the (geometric) multiplicity of each eigenvalue in  $\{n^2\}_{n=1}^{\infty}$  is equal to d-1.

Now we investigate the equation for eigenvalues of the problem  $(1.1_j)$ ,  $(1.2_j)_2$ , (1.3) and (1.4), and denote by  $\tilde{s}_j(\lambda, x)$ ,  $j = 1, 2, \ldots, d$ , the solution of  $(1.1_j)$  that satisfies the conditions

$$(2.8_j) \widetilde{s}_j(\lambda, 0) = 1, \widetilde{s}_j'(\lambda, 0) = 0.$$

Then the solutions of equations  $(1.1_j)$  that satisfy the conditions  $(1.2_j)_2$  are

$$(2.9_j) y_j(\lambda, x) = \widetilde{c}_j \widetilde{s}_j(\lambda, x),$$

where  $\tilde{c}_j$  are constants. Substituting  $(2.9_j)$  into (1.3) and (1.4), we obtain the following equation for eigenvalues of the operator  $A_2$ :  $\lambda$  is an eigenvalue of the operator  $A_2$  if and only if

(2.10) 
$$\varphi_2(\lambda) = \sum_{j=1}^d \widetilde{s}'_j(\lambda, \pi) \prod_{j \neq l \in \{1, 2, \dots, d\}} \widetilde{s}_l(\lambda, \pi) = 0.$$

Using the formulas in [7, 10], we have

$$\widetilde{s}_{j}(\lambda, x) = \cos(\sqrt{\lambda}x) + \frac{\sin(\sqrt{\lambda}x)}{\sqrt{\lambda}} \widetilde{K}_{j}(x, x) - \frac{1}{\sqrt{\lambda}} \int_{0}^{x} \widetilde{K}_{j,t}(x, t) \sin(\sqrt{\lambda}t) dt;$$

$$(2.11_{j})$$

$$\widetilde{s}'_{j}(\lambda, x) = -\sqrt{\lambda} \sin(\sqrt{\lambda}x) + \widetilde{K}_{j}(x, x) \cos(\sqrt{\lambda}x) + \int_{0}^{x} \widetilde{K}_{j,x}(x, t) \cos(\sqrt{\lambda}t) dt,$$

where  $\widetilde{K}_j(x,t)$ ,  $j=1,\ldots,d$ , have first partial derivatives  $\widetilde{K}_{j,x}(x,t)$  and  $\widetilde{K}_{j,t}(x,t)$  belonging to  $L^2[0,\pi]$  as functions of t for the fixed x, and

(2.12) 
$$\widetilde{K}_{j}(\pi,\pi) = \frac{1}{2} \int_{0}^{\pi} q_{j}(x) dx.$$

For brevity, we set

$$c_j = -\int_0^\pi \widetilde{K}_{j,t}(\pi,t) \sin(\sqrt{\lambda}t) dt, \quad d_j = \int_0^\pi \widetilde{K}_{j,x}(\pi,t) \cos(\sqrt{\lambda}t) dt;$$

then the Riemann-Lebesgue lemma implies

(2.13) 
$$c_j \longrightarrow 0, \quad d_j \longrightarrow 0 \text{ (as } \lambda \to \infty).$$

**Lemma 2.3.** The function  $\varphi_2(\lambda)$  defined by (2.10) corresponding to the operator  $A_2$  can be presented as follows:

$$\varphi_{2}(\lambda) = -d\sqrt{\lambda}\sin(\sqrt{\lambda}\pi)\cos^{d-1}(\sqrt{\lambda}\pi) - (d-1)$$

$$\times \sin(\sqrt{\lambda}\pi)\cos^{d-2}(\sqrt{\lambda}\pi)\sum_{j=1}^{d}c_{j} - (d-1)$$

$$\times \sin^{2}(\sqrt{\lambda}\pi)\cos^{d-2}(\sqrt{\lambda}\pi)$$

$$\times \sum_{j=1}^{d}\widetilde{K}_{j}(\pi,\pi) + \cos^{d-1}(\sqrt{\lambda}\pi)\sum_{j=1}^{d}d_{j}$$

$$+ \cos^{d}(\sqrt{\lambda}\pi)\sum_{j=1}^{d}\widetilde{K}_{j}(\pi,\pi) + \sin(\sqrt{\lambda}\pi)\sum_{j=1}^{d}\sum_{m=1}^{d-1}\frac{f_{m}^{j}}{\sqrt{\lambda}^{m}}$$

$$+ \cos(\sqrt{\lambda}\pi)\times\sum_{j=1}^{d}\sum_{m=1}^{d-1}\frac{\widetilde{K}_{j}(\pi,\pi)g_{m}^{j}}{\sqrt{\lambda}^{m}} + \sum_{j=1}^{d}\sum_{m=1}^{d-1}\frac{d_{j}h_{m}^{j}}{\sqrt{\lambda}^{m}},$$

where  $f_m^j$ ,  $g_m^j$ ,  $h_m^j$ ,  $1 \le m \le d-1$ ,  $1 \le j \le d$ , are entire functions in  $\lambda$ , which are the finite summation of the finite products with  $c_j$ ,  $\sin(\sqrt{\lambda}\pi)$  and  $\cos(\sqrt{\lambda}\pi)$ .

*Proof.* From (2.10) and  $(2.11_i)$  we have

$$\varphi_{2}(\lambda) = \sum_{j=1}^{d} \left[ -\sqrt{\lambda} \sin(\sqrt{\lambda}\pi) + \widetilde{K}_{j}(\pi, \pi) \cos(\sqrt{\lambda}\pi) + d_{j} \right]$$

$$\times \prod_{j \neq l \in \{1, 2, \dots, d\}} \left[ \cos(\sqrt{\lambda}\pi) + \frac{\sin(\sqrt{\lambda}\pi)}{\sqrt{\lambda}} \widetilde{K}_{l}(\pi, \pi) + \frac{c_{l}}{\sqrt{\lambda}} \right]$$

$$= \sum_{j=1}^{d} \left[ -\sqrt{\lambda} \sin(\sqrt{\lambda}\pi) + \widetilde{K}_{j}(\pi, \pi) \cos(\sqrt{\lambda}\pi) + d_{j} \right]$$

$$\times \left[ \cos^{d-1}(\sqrt{\lambda}\pi) + \frac{\cos^{d-2}(\sqrt{\lambda}\pi) \sin(\sqrt{\lambda}\pi)}{\sqrt{\lambda}} \right]$$

$$\times \sum_{j \neq l \in \{1, 2, \dots, d\}} \widetilde{K}_{l}(\pi, \pi) + \frac{\cos^{d-2}(\sqrt{\lambda}\pi)}{\sqrt{\lambda}}$$

$$\times \sum_{\substack{j \neq l \in \{1, 2, \dots, d\} \\ j \neq l \in \{1, 2, \dots, d\} \\ }} c_l + \frac{\cos^{d-3}(\sqrt{\lambda}\pi)}{\lambda}$$

$$\times \sum_{\substack{l < l_1 \\ j \neq l \\ l_1 \in \{1, 2, \dots, d\} \\ }} (c_l + \sin(\sqrt{\lambda}\pi) \widetilde{K}_l(\pi, \pi)) (c_{l_1} + \sin(\sqrt{\lambda}\pi) \widetilde{K}_{l_1}(\pi, \pi))$$

$$+ \dots + \frac{1}{\sqrt{\lambda}^{d-1}} \prod_{\substack{j \neq l \in \{1, 2, \dots, d\} \\ }} (c_l + \sin(\sqrt{\lambda}\pi) \widetilde{K}_l(\pi, \pi))$$

$$= \sum_{j=1}^d \left[ -\sqrt{\lambda} \sin(\sqrt{\lambda}\pi) \cos^{d-1}(\sqrt{\lambda}\pi) - \sin(\sqrt{\lambda}\pi) \cos^{d-2}(\sqrt{\lambda}\pi) \right]$$

$$\times \sum_{\substack{j \neq l \in \{1, 2, \dots, d\} \\ j \neq l \in \{1, 2, \dots, d\} \\ }} c_l - \sin^2(\sqrt{\lambda}\pi) \cos^{d-2}(\sqrt{\lambda}\pi)$$

$$\times \sum_{\substack{j \neq l \in \{1, 2, \dots, d\} \\ j \neq l \in \{1, 2, \dots, d\} \\ }} \widetilde{K}_l(\pi, \pi)$$

$$+ \sin(\sqrt{\lambda}\pi) \sum_{m=1}^{d-1} \frac{f_m^j}{\sqrt{\lambda}^m} + \cos^d(\sqrt{\lambda}\pi) \widetilde{K}_j(\pi, \pi)$$

$$+ \widetilde{K}_j(\pi, \pi) \cos(\sqrt{\lambda}\pi) \sum_{m=1}^{d-1} \frac{g_m^j}{\sqrt{\lambda}^m}$$

$$+ d_j \cos^{d-1}(\sqrt{\lambda}\pi) + d_j \sum_{m=1}^{d-1} \frac{h_m^j}{\sqrt{\lambda}^m} \right].$$

The proof of the lemma is complete.

If  $q_j(x) \equiv 0$ , then, by substituting  $\tilde{s}_j(\lambda, \pi) = \cos(\sqrt{\lambda}\pi)$ ,  $\tilde{s}'_j(\lambda, \pi) = -\sqrt{\lambda}\sin(\sqrt{\lambda}\pi)$  into (2.10), we get

$$\varphi_2(\lambda) = -d\sqrt{\lambda}\sin(\sqrt{\lambda}\pi)\cos^{d-1}(\sqrt{\lambda}\pi).$$

The set of zeros of this characteristic function, which consists of eigenvalues of the operator  $A_2$  as  $q_j(x) \equiv 0$ . The arguments concerning the multiplicity of each eigenvalue refer to Lemma 2.2. From this, the following lemma is true.

**Lemma 2.4.** If  $q_j(x) \equiv 0, j = 1, 2, ..., d$ , then

$$\sigma(A_2) = \{0\} \bigcup \{n^2\}_{n=1}^{\infty} \bigcup \left\{ \left(n - \frac{1}{2}\right)^2 \right\}_{n=1}^{\infty}.$$

Moreover, the (geometric) multiplicity of each eigenvalue in  $\{n^2\}_{n=0}^{\infty}$  is simple and the (geometric) multiplicity of each eigenvalue in  $\{(n-(1/2))^2\}_{n=1}^{\infty}$  is equal to d-1.

**3.** The proof. Now we can prove theorems in this paper through a series of lemmata established in Section 2.

Proof of Theorem 1.1. Since the equation for eigenvalues of the operator  $A_2$  is that  $\varphi_2(\lambda)=0$  and  $\{m_k^2:k=1,2,\dots\}\subset\sigma(A_2)$ , for all  $k=1,2,\dots$ , we obtain  $\varphi_2(m_k^2)=0$ . From equation (2.14) in Lemma 2.3 and  $\{m_k\}_{k=1}^\infty\subset\mathbf{N},\,\varphi_2(m_k^2)=0$  implies

(3.1) 
$$\varphi_2(m_k^2) = (-1)^{dm_k} \sum_{j=1}^d \widetilde{K}_j(\pi, \pi) + (-1)^{m_k} \sum_{j=1}^d \sum_{m=1}^{d-1} \frac{\widetilde{K}_j(\pi, \pi) g_m^j}{m_k^m} + (-1)^{(d-1)m_k} \sum_{j=1}^d d_j + \sum_{j=1}^d \sum_{m=1}^{d-1} \frac{d_j h_m^j}{m_k^m} = 0.$$

Since  $m_k$  is a strictly ascending infinite sequence of positive integers, letting  $m_k \to \infty$  in (3.1), together with (2.12) and (2.13), it follows that

(3.2) 
$$\frac{1}{2} \int_0^{\pi} \sum_{j=1}^d q_j(x) \, dx = \sum_{j=1}^d \widetilde{K}_j(\pi, \pi) = 0.$$

Next we show that

$$Y_0 = \left(\underbrace{\frac{1}{\sqrt{d\pi}}, \cdots, \frac{1}{\sqrt{d\pi}}}_{d}\right)^T$$

is the first eigenfunction of  $A_2$ . By the variational principle, we obtain (3.3)

$$\inf_{Y \in D(A_2), \sum_{j=1}^d ||y_j||^2 = 1} \left( - \int_0^\pi \sum_{j=1}^d y_j'' \overline{y_j} \, dx + \int_0^\pi \sum_{j=1}^d q_j(x) |y_j|^2 \, dx \right) = 0,$$

where  $Y = (y_1, y_2, \dots, y_d)^T$ ,  $||y_j||^2 = \int_0^{\pi} |y_j|^2 dx$ . Now  $||Y_0|| = 1$  and  $Y_0 \in D(A_2)$  are obvious, and so

$$0 \le (A_2 Y_0, Y_0) = \int_0^{\pi} \sum_{i=1}^d q_j(x) \left| \frac{1}{\sqrt{d\pi}} \right|^2 dx = \frac{1}{d\pi} \int_0^{\pi} \sum_{i=1}^d q_j(x) dx,$$

and by (3.2), the righthand side is exactly 0, the test function  $Y_0$  makes the functional  $(A_2Y,Y)/||Y||^2$  achieve its minimum value and is thus the first eigenfunction. Substituting  $Y_0$  which is the eigenfunction of eigenvalue 0 into the equation  $(1.1_j)$ , we obtain  $q_j(x) = 0$ ,  $j = 1, 2, \ldots, d$ , almost everywhere in  $L^2[0, \pi]$ . The proof is finished.

Proof of Theorem 1.2. Since the equation for eigenvalues of the operator  $A_2$  is that  $\varphi_2(\lambda) = 0$  and  $\{(m_k - (1/2))^2 : k = 1, 2, ...\} \subset \sigma(A_2)$ , for all k = 1, 2, ..., we obtain  $\varphi_2((m_k - (1/2))^2) = 0$ . Since the multiplicity of each eigenvalue  $(m_k - (1/2))^2$  is d - 1, we have

(3.4) 
$$\lim_{\lambda \to (m_k - (1/2))^2} \frac{\varphi_2(\lambda)}{\cos^{d-2}(\sqrt{\lambda}\pi)} \equiv 0$$

identically in  $k \in \mathbf{N}$ .

From equation (2.14) in Lemma 2.3 and  $\{m_k\}_{k=1}^{\infty} \subset \mathbf{N}$ , using the identities  $\cos((m_k - (1/2))\pi) = 0$  and  $\sin((m_k - (1/2))\pi) = (-1)^{m_k+1}$ , by (3.4) we get

$$0 \equiv \lim_{\lambda \to (m_k - (1/2))^2} \frac{\varphi_2(\lambda)}{\cos^{d-2}(\sqrt{\lambda}\pi)}$$

$$= (-1)^{m_k} (d-1) \sum_{j=1}^d c_j - (d-1) \sum_{j=1}^d \widetilde{K}_j(\pi, \pi)$$

$$+ \lim_{\lambda \to (m_k - (1/2))^2} \frac{A(\lambda)}{\sqrt{\lambda}^{d-1} \cos^{d-2}(\sqrt{\lambda}\pi)},$$

where the entire function in  $\lambda$ 

$$A(\lambda) = \sin(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-1} f_m^j \sqrt{\lambda}^{d-m-1}$$

$$+ \cos(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-1} \widetilde{K}_j(\pi, \pi) g_m^j \sqrt{\lambda}^{d-m-1}$$

$$+ \sum_{j=1}^{d} \sum_{m=1}^{d-1} d_j h_m^j \sqrt{\lambda}^{d-m-1}.$$

Thus,  $\lim_{\lambda \to (m_k - (1/2))^2} (A(\lambda)/\sqrt{\lambda}^{d-1} \cos^{d-2}(\sqrt{\lambda}\pi))$  exist for all  $k \in \mathbb{N}$ , but  $(m_k - (1/2))^2$  is a zero of  $\cos^{d-2}(\sqrt{\lambda}\pi)$  with multiplicity d-2, which implies that  $(m_k - (1/2))^2$  is a zero of  $A(\lambda)$  with multiplicity d-2 at least. (1) If  $(m_k - (1/2))^2$  is a zero of  $A(\lambda)$  with multiplicity m > d-2, then

(3.7) 
$$\lim_{\lambda \to (m_k - (1/2))^2} \frac{A(\lambda)}{\sqrt{\lambda}^{d-1} \cos^{d-2}(\sqrt{\lambda}\pi)} = 0;$$

(2) If  $(m_k - (1/2))^2$  is a zero of  $A(\lambda)$  with multiplicity d-2 exactly, by (3.6) then

(3.8) 
$$\lim_{\lambda \to (m_k - (1/2))^2} \frac{A(\lambda)}{\sqrt{\lambda}^{d-1} \cos^{d-2}(\sqrt{\lambda}\pi)} = O(1/m_k).$$

Combining (3.5), (3.7) and (3.8), one can readily see that

$$(3.9) \qquad (-1)^{m_k} (d-1) \sum_{j=1}^d c_j - (d-1) \sum_{j=1}^d \widetilde{K}_j(\pi, \pi) + O(1/m_k) = 0$$

or

(3.10) 
$$(-1)^{m_k} (d-1) \sum_{j=1}^d c_j - (d-1) \sum_{j=1}^d \widetilde{K}_j(\pi, \pi) = 0.$$

Since  $m_k$  is a strictly ascending infinite sequence of positive integers, letting  $m_k \to \infty$  in (3.9) or (3.10), together with (2.12) and (2.13), it follows that

$$\frac{1}{2} \int_0^{\pi} \sum_{j=1}^d q_j(x) \, dx = \sum_{j=1}^d \widetilde{K}_j(\pi, \pi) = 0.$$

Next, using methods in the proof of Theorem 1.1, the proof is finished. □

Proof of Theorem 1.3. The sufficient part is obvious by Lemma 2.2. To prove the converse, we employ Lemma 2.1. Since the equation for eigenvalues of the operator  $A_1$  is that  $\varphi_1(\lambda) = 0$  and  $\{(m_k - (1/2))^2 : k = 1, 2, ...\} \subset \sigma(A_1)$ , for all k = 1, 2, ..., we obtain  $\varphi_1((m_k - (1/2))^2) = 0$ . From equation (2.7) in Lemma 2.1 and  $\{m_k\}_{k=1}^{\infty} \subset \mathbf{N}, \varphi_1((m_k - (1/2))^2) = 0$  implies

$$\varphi_{1}\left(\left(m_{k} - \frac{1}{2}\right)^{2}\right) = \frac{(-1)^{(m_{k}+1)d} \sum_{j=1}^{d} K_{j}(\pi, \pi)}{(m_{k} - (1/2))^{d}} + (-1)^{(m_{k}+1)} \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{K_{j}(\pi, \pi)\beta_{m}^{j}}{(m_{k} - (1/2))^{d+m}} + \frac{(-1)^{(m_{k}+1)(d-1)} \sum_{j=1}^{d} a_{j}}{(m_{k} - (1/2))^{d}} + \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{a_{j}\gamma_{m}^{j}}{(m_{k} - (1/2))^{d+m}} = 0.$$

which implies

$$(3.11)$$

$$(-1)^{(m_k+1)d} \sum_{j=1}^{d} K_j(\pi,\pi) + (-1)^{(m_k+1)} \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{\beta_m^j K_j(\pi,\pi)}{(m_k - (1/2))^m} + (-1)^{(m_k+1)(d-1)} \sum_{j=1}^{d} a_j + \sum_{j=1}^{d} \sum_{m=1}^{d-1} \frac{\gamma_m^j}{(m_k - (1/2))^m} = 0.$$

Since  $m_k$  is a strictly ascending infinite sequence of positive integers, letting  $m_k \to \infty$  in (3.11), together with (2.5) and (2.6), it follows that

(3.12) 
$$\frac{1}{2} \int_0^{\pi} \sum_{j=1}^d q_j(x) \, dx = \sum_{j=1}^d K_j(\pi, \pi) = 0.$$

Next we show that  $Y_{1/4} = (\underbrace{\sin(x/2), \dots, \sin(x/2)}_{d})^{T}$  is the first eigen-

function of  $A_1$ . By the variational principle, we obtain (3.13)

$$(3.13) \frac{1}{4} = \inf_{Y \in D(A_1), ||Y|| = 1} (A_1 Y, Y)$$

$$= \inf_{Y \in D(A_1), \sum_{j=1}^{d} ||y_j||^2 = 1} \left( -\int_0^{\pi} \sum_{j=1}^{d} y_j'' \overline{y_j} \, dx + \int_0^{\pi} \sum_{j=1}^{d} q_j(x) |y_j|^2 \, dx \right),$$

where  $Y = (y_1, y_2, \dots, y_d)^T$ ,  $||y_j||^2 = \int_0^{\pi} |y_j|^2 dx$ . Now  $Y_{1/4} \in D(A_1)$  is obvious, and so

$$\begin{split} &\frac{1}{4} \leq \frac{(A_1 Y_{1/4}, Y_{1/4})}{||Y_{1/4}||^2} \\ &= \frac{1/4 \sum_{j=1}^d \int_0^\pi \sin^2(x/2) \, dx + \int_0^\pi \sum_{j=1}^d q_j(x) \sin^2(x/2) \, dx}{\sum_{j=1}^d \int_0^\pi \sin^2(x/2) \, dx} \\ &= \frac{1}{4} + \frac{\int_0^\pi \sum_{j=1}^d q_j(x) (1 - \cos x) \, dx}{d\pi} \\ &= \frac{1}{4} + \frac{\int_0^\pi \sum_{j=1}^d q_j(x) \, dx}{d\pi} - \frac{\int_0^\pi \cos x \sum_{j=1}^d q_j(x) \, dx}{d\pi}, \end{split}$$

by (3.12) and assumption, the righthand side is exactly 1/4, the test function  $Y_{1/4}$  makes the functional  $(A_1Y,Y)/||Y||^2$  attain its minimum value and is thus the first eigenfunction. Substituting  $Y_{1/4}$ , which is the eigenfunction of eigenvalue 1/4, into equation  $(1.1_j)$ , we obtain

$$\frac{1}{4}\sin\frac{x}{2} + q_j(x)\sin\frac{x}{2} = \frac{1}{4}\sin\frac{x}{2};$$

therefore,  $q_i(x) = 0, j = 1, 2, \ldots, d$ , almost everywhere in  $L^2[0, \pi]$ .  $\square$ 

Proof of Theorem 1.4. The sufficient part is obvious by Lemma 2.2. To prove the necessity, we use Lemma 2.1. Since the equation for eigenvalues of the operator  $A_1$  is that  $\varphi_1(\lambda) = 0$  and  $\{m_k^2 : k = 1, 2, \ldots\} \subset \sigma(A_1)$ , for all  $k = 1, 2, \ldots$ , we obtain  $\varphi_1(m_k^2) = 0$ . Since the multiplicity of each eigenvalue  $m_k^2$  is d-1, we have

(3.14) 
$$\lim_{\lambda \to m_k^2} \frac{\varphi_1(\lambda)}{\sin^{d-2} \sqrt{\lambda} \pi} \equiv 0$$

for all  $k \in \mathbf{N}$ .

From equation (2.7) in Lemma 2.1 and  $\{m_k\}_{k=1}^{\infty} \subset \mathbf{N}$ , using the identities  $\cos(m_k \pi) = (-1)^{m_k}$  and  $\sin(m_k \pi) = 0$ , by (3.14) we get

$$0 \equiv \lim_{\lambda \to m_k^2} \frac{\varphi_1(\lambda)}{\sin^{d-2} \sqrt{\lambda} \pi}$$

$$= \frac{(-1)^{m_k} (d-1) \sum_{j=1}^d b_j}{m_k^d} - \frac{(d-1) \sum_{j=1}^d K_j(\pi, \pi)}{m_k^d}$$

$$+ \lim_{\lambda \to m_k^2} \frac{B(\lambda)}{\sqrt{\lambda}^{2d-1} \sin^{d-2}(\sqrt{\lambda} \pi)},$$

where the entire function in  $\lambda$ 

$$B(\lambda) = \cos(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-2} \alpha_m^j \sqrt{\lambda}^{d-m-1}$$

$$+ \sin(\sqrt{\lambda}\pi) \sum_{j=1}^{d} \sum_{m=1}^{d-1} K_j(\pi, \pi) \beta_m^j \sqrt{\lambda}^{d-m-1}$$

$$+ \sum_{j=1}^{d} \sum_{m=1}^{d-1} a_j \gamma_m^j \sqrt{\lambda}^{d-m-1}.$$

Thus,  $\lim_{\lambda \to m_k^2} (B(\lambda)/\sqrt{\lambda}^{2d-1} \sin^{d-2}(\sqrt{\lambda}\pi))$  exist for all  $k \in \mathbb{N}$ , but  $m_k^2$  is a zero of  $\sin^{d-2}(\sqrt{\lambda}\pi)$  with multiplicity d-2, which implies that  $m_k^2$  is a zero of  $B(\lambda)$  with multiplicity d-2 at least. (1) If  $m_k^2$  is a zero of  $B(\lambda)$  with multiplicity m>d-2, then

(3.17) 
$$\lim_{\lambda \to m_k^2} \frac{B(\lambda)}{\sqrt{\lambda}^{2d-1} \sin^{d-2}(\sqrt{\lambda}\pi)} = 0;$$

(2) If  $m_k^2$  is a zero of  $B(\lambda)$  with multiplicity d-2 exactly, by (3.16) then

(3.18) 
$$\lim_{\lambda \to m_k^2} \frac{B(\lambda)}{\sqrt{\lambda^{2d-1}} \sin^{d-2}(\sqrt{\lambda}\pi)} = O(1/m_k^{d+1}).$$

Combining (3.15), (3.17) and (3.18), we obtain

(3.19) 
$$(-1)^{m_k} \sum_{j=1}^d b_j - \sum_{j=1}^d K_j(\pi, \pi) + O(1/m_k^{d+1}) = 0.$$

Since  $m_k$  is a strictly ascending infinite sequence of positive integers, letting  $m_k \to \infty$  in (3.19), together with (2.5) and (2.6), it follows that

$$\frac{1}{2} \int_0^{\pi} \sum_{j=1}^d q_j(x) \, dx = \sum_{j=1}^d K_j(\pi, \pi) = 0.$$

Now it is sufficient to use the arguments in the proof of Theorem 1.3 to finish the proof.  $\Box$ 

Remark 3.1. The potential  $q_j = c$ ,  $j = 1, 2, \ldots, d$ , with a real constant c in equation  $(1.1_j)$ , can be reconstructed from its spectrum. We need only apply Theorems 1.1–1.4 to equation  $(1.1_j)$  with potential  $q_j - c$ .

**Acknowledgments.** The authors acknowledge helpful comments and suggestions of the referees.

## REFERENCES

- 1. V.A. Ambarzumyan, Über eine Frage der Eigenwerttheorie, Z. Phys. 53 (1929), 690–695.
- 2. G. Borg, Eine Umkehrung der Sturm-Liouvilleschen Eigenwertaufgabe, Bestimmung der Differentialgleichung durch die Eigenwerte, Acta Math. 78 (1946), 1–96.
- 3. ——, Uniqueness theorems in the spectral theory of  $y'' + (\lambda q(x))y = 0$ , in Proc. 11th Scand. Congress Mathematicians, Johan Grundt Tanums Forlag, Oslo, 1952.
- 4. B.M. Brown and R. Weikard, A Borg-Levinson theorem for trees, Proc. Royal Soc. London 461 (2005), 3231–3243.
- 5. N.K. Chakravarty and S.K. Acharyya, On an extension of the theorem of V.A. Ambarzumyan, Proc. Roy. Soc. Edinburgh 110 (1988), 79–84.
- **6.** H.H. Chern, C.K. Law and H.J. Wang, Corrigendum to: "Extension of Ambarzumyan's theorem to general boundary conditions," J. Math. Anal. Appl. **309** (2005), 764–768.

- 7. H.H. Chern and C.L. Shen, On the n-dimensional Ambarzumyan's theorem, Inverse Problems 13 (1997), 15-18.
- 8. R. Courant and D. Hilbert, Methods of mathematical physics 1, Interscience, New York, 1953.
- 9. N.V. Kuznetsov, Generalization of a theorem of V.A. Ambarzumian, Dokl. Akad. Nauk 146 (1962), 1259-1262 (in Russian).
- 10. B.M. Levitan and M.G. Gasymov, Determination of a differential equation by two of its spectra, Uspekhi Mat. Nauk 19 (1964), 3-63; Russian Math. Surveys 19 (1964), 1-64.
- 11. V. Pivovarchik, Inverse problem for the Sturm-Liouville equation on a simple graph, SIAM J. Math. Anal. 32 (2000), 801-819.
- 12. V.N. Pivovarchik, Ambarzumyan's theorem for a Sturm-Liouville boundary value problem on a star-shaped graph, Funktsional. Anal. Prilozh. 39 (2005), 78–81 (in Russian); Funct. Anal. Appl. 39 (2005), 148–151 (in English).
- 13. D.L. Wassel, Inverse Sturm-Liouville problems on trees, another variational approach, Master's thesis, School of Computer Science, Cardiff University, 2006.
- 14. V. Yurko, Inverse spectral problems for Sturm-Liouville operators on graphs, Inverse Problems 21 (2005), 1075–1086.

DEPARTMENT OF APPLIED MATHEMATICS, NANJING UNIVERSITY OF SCIENCE AND TECHNOLOGY, NANJING 210094, JIANGSU, P.R. CHINA

Email address: chuanfuyang@tom.com

Nanjing University of Science and Technology, Nanjing 210094, Jiangsu, P.R. China

Email address: zyhuangh@mail.njust.edu.cn

Nanjing University of Science and Technology, Nanjing 210094, Jiangsu, P.R. China

 ${\bf Email\ address:\ yangxp@mail.njust.edu.cn}$